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LG546289638 GRADING SCALES Description LABORATORY GROWN
LABORATORY GROWN DIAMOND REPORT DIAMOND
GRABING ¢ i ™ | " | v 4
SCALE COLORLESS | NEAR | FAINT | VERY LIGHT | LIGHT Shc:pe Ond CUT“ng Swle HEART BRILUANT
oF coraEss o b sz Measurements 7.87 X 8.99 X 5.23 MM
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|Gl Report Number LG546289638 FLAWLESS INCLUDED INCLUDED Color Grade G
Descripfion LABORATORY GROWN PROPORTIONS Clarity Grade VVS 2
DIAMOND Cut Grade VERY GOOD
Shape and Cutting Style HEART BRILLIANT _ = %% _
Slightly Thick 149,
Measurements 7.87 X 8,99 X 523 MM To Thick NIl
(Faceted)
GRADING RESULTS /T 58.2% - 565% —
- 40% Slightly 1 T
Carat Weight 2.14 CARATS ThickTo T 58.2%
Thick )
40%
Color Grade G l \/_ 1 (Faceted) 40 l
] Pointed N
Clarity Grade VVS 2 Pointed
Cut Grade VERY GOOD
ADDITIONAL GRADING INFORMATION ADDITIONAL GRADING INFORMATION
P G € 2 9 Polish EXCELLENT
Polish EXCELLENT T UMY EXCRLEN
Fluorescence NONE
Symmetry EXCELLENT Inscription(s) LABGROWN G| LG546289638
Comments: This Laboratory Grown Diamond was
Fluorescence NONE created by Chemical Vapor Deposition (CVD) growth
process and may include post-growth treatment.
Inscription(s) LABGROWN |G| L&546289638 p- Type lla
Comments: This Laboratory Grown Diamond was LASERSCRIBE
created by Chemical Vapor Deposition (CVD) growth Sample Image Used
process and may include post-growth treatment.
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